Supplementary Problems




Name___________________
Use a calculator to approximate two values of θ (0˚ < θ < 360˚) that satisfy the equation.  

Round the values to two decimal places.
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Use a calculator to approximate two values of θ (0 < θ < 2π) that satisfy the equation.  

Round the values to three decimal places.

5.    
[image: image5.wmf]cos

.

q

=

0

9848






6.    
[image: image6.wmf]tan

.

q

=

1

192


7.    
[image: image7.wmf]sin

.

q

=

0

0175






8.    
[image: image8.wmf]cot

.

q

=

5

671


9.    
[image: image9.wmf]sec

.

q

=

-

2

6667






10.   
[image: image10.wmf]csc

.

q

=

-

1

3214


Supplementary Problems




Name___________________

Use a calculator to approximate two values of θ (0˚ < θ < 360˚) that satisfy the equation.  

Round the values to two decimal places.

1.   
[image: image11.wmf]sin

.

q

=

0

8191






2.    
[image: image12.wmf]cos

.

q

=

0

8746


3.   
[image: image13.wmf]cot

.

q

=

-

1

5047






4.    
[image: image14.wmf]csc

.

q

=

-

1

3612


Use a calculator to approximate two values of θ (0 < θ < 2π) that satisfy the equation.  

Round the values to three decimal places.
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